Coof’dintﬂing Ce . Wfrow\ the Beome_h‘j wlone ({or Pro;)e.c_’rwt, Plcme_b\

Ottt wWith o projecfive plane.. We feed o Coltechion of Symoos to Popula’re the
Coordinates.
* Three  Special Oneg: 00,0, 1.
*We a0 need ay muny more o5 there  points on o line (when counted with +the
three Special Ones\:%
- Given Huw plune choose three lines that are not concurrent in o single point.
*One Will be the line y=0 (0,03, one will be the hne x=0 ['_033, and e
thied is the line ak infinity Codl.
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* We uss'%\r\ coofdinates to % points :
(0,0y=Coln(o,00
(0) =(Ces]n 0,00
(0) =[x} [07]
*Pick o point on [ ofher than (0) or (20) and cald ik ().
+ The  ling joining (0,0) t0 (1) 15 qiven (oordinutes [1,07].
“Pieck o poink on C1,03 ofher thun (O and (0,0 and ok 1€ (1)),
+ The line joining () fo (1,1} musk be C1T and meets C0,03 at (1,0).
» The ling ‘)oinin\rj (o) 10 (L) hus coordinutes L0317 cwnd ik weets (01 ak
(0, 1)

Call
0.b

*To find the coordinates of any other point not on Ced]

* Conneck ik to (0),+his 3\\10_5 Yoo a ling passin ’H\fOlﬂ\r\ 6,d) on 1,03, and
Connect 1+ t0 (29) this gives o line pasSin %hrovgk (e, on [0,
wing  the point We Sturted With Coordinof?es (¢, d)

*For the Poiﬂjrs not yet tuken care of on [0od, connect the point fo (0,0)
and ool the intesection of this line with T . T the indersection
has  coordinates (1,m)  the line is [m,01 and meets our paint on [eo]
wng £ Hhe  Coordinate (m).

* The line passing  through (n) and (0,e) 5 coordinates [n,e and then we're
done ...“except for defining the algebric operations.



